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(1) s 1, 2), PR3

Ans.

(3)  HuLLAY (=3, 0) , FfED2

Ans.

(5) HLLAMEUR, FRAWV2

Ans.

2 ROABKXKEDLSGEAZRTH.

1 G-22+@-9>=9

Ans.

B x2+(w+2)2?2=3

Ans.

)

(4)

(6)

)

(4)

FOA (—1, 4) , EESVE

AnS.

HULSER, PR

Ans.

Fub (=2,1) , EEN4

Ans.

(x+2)2+(@y—-3)?=6

Ans.

x2+y2=14

Ans.
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4

(@)

(b)

RORCHIDLT, RAZESIHDOFEXERD L.

c(0, 0), A1, 2)

Ans.

C(=3, 2), A(0,-2)

Ans.

)

(4)

C(2, 1), A(4, 3)

Ans.

c(—1, 1), A2, 5)

Ans.

RD2RA BEBARSZERLETHAIOVT, (@) PDLOEREFE,
EXZERD&K.
(1) A, 3), B(5, 1)

Ans.

Ans.

(2) A(-3,—4), B(-5, 2)

(@)

(b)

Ans.

(b)ADF

Ans.
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5 ROABAIEDLSGTRBZERTDH.

(1) x*>+y?—4x-6=0

Ans.

B) x*+y?—6x—4y+12=0

Ans.

B) x2+y2—-6y=0

Ans.

6 ROADAHEARZEZEZEZEX.
1) "2y (2, 1) T, xS 5

Ans.

)

(4)

(6)

@)

x2+y2+4x—6y—-3=0

AnS.

x2+y2+10x+2y+10=10

Ans,

x2+y?2—-2x—-2y—-2=0

Ans.

A (=3, 2) T, y#hcEET oM

Ans.

( )2( ) ( Ex K4
M7 XOImh$H5b. (a) ADFEXEZROKL. O)FELEFIDOEEERD K.
1) A(-2, 3), B(1, 0), €c(0,—1)
Ans. (a) (b)
2 AQ, 0), B(3, 2), C(2,—-1)
Ans.  (a) (b)
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B8 3 m A(2, 1), B(6, 3), €(—1,2) #TAF&ETHAABC N$H 5. (a) AABC DFEAD B10 XROALEROEFEADEELZRD L.

BFEAZRDOE. O)NEAOEREFELHDOEEEZRD L. (1) x*+y%2=25 y=—-x+5 (2 x*+y%?2=5 y=-2x+5
Ans. Ans.
B x2+y2=10, y=x+2 (4 x*+y2-2y=0, x+2y—1=0
Ans. () (b)

e R (4 2) Z&Y, 81, yHICTEITSLS5GCADFERXERD K.

Ans. Ans. Ans.
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Fl11 ROALERKOEEROBEHZERSD L. 13 ROFHZEH-TEBRKOME FrITHEEEZRDH L.
(1) x®2+y%?=4, y=x+3 2 x?+y%?2=5 y=2x+3 Q) x?+y?2=1 LEHK y=x+k BDERD2H5TRDD L.
Ans. Ans.
B x?2+y?2=10, 3x—y=10 4) x*+y?2=4, 2x—y—-6=0
Ans.

(2 x*+y*=5 LEMR y=-2x+k DETDHLEZE.

Ans. Ans.

Bl12 XOALEDEA P ICEIT3EHEOAERXEZRD L.

(1) x2+y?=25 P4 3) (2 x2+y%2=5 P(-2, 1)
Ans. Ans.
B) x%2+y?=13, P(3,-2) 4) x2+y2=4, P2, 0)

Ans. Ans. Ans.
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Fl14 ROBEHOFEAXEZRDL. 15 dubd 3,6) T, AAx2+y2=20 IZ/HETHABIZONVTEBIZER K.
(1) & A(-1, 2) B x?2+y?2 =1 125\ FRER 1) MHADOHFLOMEELLREZEZ L. 2 HAOHLEMBOHLOEREZ RO X
Ans. Ans.

B) HBO¥EZrELZLE, rakd. (4) HBOHOHERNALRD L.

Ans. Ans.

16 ROFFEXDRTHEZRTHEX.
XL, ERBLUALE xH, yBEDXRFOERZRBT 5 L.

(1) y<-—x 2) y=-2x+3 3) y=3x+6
Ans. N N A
(2) A3, -1) B x?+y? =5 128\ RO HRE
4 x+y>3 (5) 2x-3y>6 (6) 4x+3y—12=0

h h N

W
W
v

Ans.
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(7) x= -2 ®) x+3<0 9 y>2 17 ROMBEEHOEHEZRTFASFAZRDEK.
p P | (1) () 3)

o Zx

<)

(10) 3y—9=<0 (11) x2+y2=<16 (12) x2+y2<25
\ \ REL, SREE D, REL, SRMESERS. REL, SRMESD.
Ans. Ans. Ans.
18 ROFBIAFRFEXDOHEEZETRE L.
(1 {yy><—xZ;-IS- 3 2) {;Cx+—yy_—21<<00 (3) {}?fx_-l-z i ; 3 i 8
(13) x2+y2=25 (14) x2+y2>4 (15) x?2+y2<5
N o o G000 e PN

(16) (x—1)?%2+y2<9 (17) x2+y2—4y+3>0
h h
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Fl19 ROFFEXDRTHEEBZRTRE L. 21 ubMNER y=x+5 LIZHY, RRER AL, 2) Z2EH LS BEAICOVTERLIC
(1) 1<x?+4+y%2<9 () 16=x%+y?=25 (3) —-6<2x—3y<6 EZ &

(1) FLOxEEL a L Lzl EOFLOEEZRD K.

Ans.

(2 ¥EzZrilllxoloTREAZRD K.

\ \ . Ans.
B @TKDODIEHOFEAIIFERE SR AZEBEDLDOT, ZNEIRALTallfdd 57 R
R L.
20 XRODFAEXADRITHEEHZRTE L.
1 x+y)Bx—y—-1)>0 (2) xy<0 B (+y+1D(*+y2-4)<0 <|:
Ans

(4) EOENHREAZMEE, Rafia & rzRd L.

Ans.

(6) HoOIERAERKD K.

v
v
v

Ans.




